Additional Trees

This file contains additional raw classification tree outputs not included in the
main article, including outputs generated for specific treatment subsets of
NAP (Non-agglomeration payment) and AP (Agglomeration payment). Each
case includes the following: i) a plot of 00OB prediction error for both the ‘min’
and ‘se’ approaches to selecting optimal trees, ii) a tree drawing for each of the
‘min’ and ‘se’ cases, and iii) a summary of cases and predictions at each node.
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0.28571429
0.72307692
0.37142857
0.671875
0.66666667
0.43076923

Cases

106
89
32
39
17
3
18
28
65
35
64
12
65



NAP-ZT - MIN

pc55__ neighbors_CA=0A\pc55_ neighbors_CA=1

pcd2__ crop_residues=0 /xpcd2__ crop_residues=1 pc51__ CA incentive=0AA pc51__ CA_incentive=1
o pc51__ CA_incentive=02\ pc51__ CA_incentive=1 pc40__ crops_for_sale=0 £AXpc40__ crops_for_sale=1 pc49__ waterlogging=0 AN pc49__ waterlogging=1
i chG_community_position=0 AN pc56___cqubiunitgrppsfhibarel concern=0 £ pc53___ crop_failure_cqne@bn=1household_labor=0 A pc35___household_labor=1 pc37___soil_erosion=0 £ pc37___soil_erosion=1 .

pc33__ vandalism=0 A\ pc33__ vandalism=1

true false true false false true false

truc:53_c:rop_failure_c:onc:ern:O M\ pc53__ crop_failure_concern=1

true false



Node ProbFalse ProbTrue Cases

2 0.70916335 0.29083665 251
6 0.80952381 0.19047619 21
9 0.125 0.875 32
10 0.71428571 0.28571429 28
12 0.27692308 0.72307692 65
13 0.62857143 0.37142857 35
14  0.328125  0.671875 64

15 0.53246753 0.46753247 77



NAP-ZT - SE

pc55___neighbors_CA=0.A\ pc55__ neighbors_CA=1

pc51__ CA_incentive=0AApc51__ CA_incentive=1
false

pc40__ crops_for_sale=0 £Xpc40__ crops_for_sale=1 pc49__ waterlogging=0"4\pc49__ waterlogging=1

pc35__ household_labor=0 2\ pc35__ household_labor=1 pc37__ soil_erosion=0 /X pc37___soil_erosion=1

false true

pc33__ vandalism=0 A\ pc33__ vandalism=1

false true false

true false
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